
foKku foKku foKku foKku (Science)
Class – IX F.M = 80

Unit 

No. 
Unit Content Units 

No. of 

Question 

Each 

question two 

marks 

(a) gekjs vkl&ikl ds inkFkZ
(Matter in our surrounding) 

03 03x2=06 

(b) D;k gekjs vkl&ikl ds inkFkZ ‘kq) gSa\
(Is matter arroud us pure?) 

03 03x2=06 

(c) ijek.kq ,oa v.kq
(Atoms and Molecules) 

03 03x2=06 
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(d) ijek.kq lajpuk
(Structure of Atom) 

03 03x2=06 

(a) thou dh ekSfyd bdkbZ
(The Fundamental Unit of life) 

02 02x2=04 

(b) mÙkd (Tissues) 03 03x2=06 

(c) thoksa esa fofo/krk
(Diversity in living Organisms) 

03 03x2=06 
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(d) ge chekj D;ksa gksrs gSa\
(Why do we Fall ill?) 

02 02x2=04 

(a) xfr dk o.kZu
(Describing Motion) 

03 03x2=06 

(b) cy rFkk xfr ds fu;e
(Force and Laws of Motion) 

03 03x2=06 

(c) xq#Rokd”kZ.k (Gravitation) 02 02x2=04 

(d) dk;Z vkSj mtkZ (Work and Energy) 03 03x2=06 
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(v) /ofu (Sound) 02 02x2=04 

IV 

BOILOGY 

Our 

Environment 
(06 Marks) 

(a) ÁkÑfrd laink (Natural Resources) 03 03x2=06 

V 

BOILOGY 

Food, Food 

Production 
(04 Marks) 

(a) [kk| lalk/kuksa esa lq/kkj
(Improvements in Food Resources) 

02 02x2=04 
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SET - I 

CLASS - IX 
SCIENCE 
lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k % % % %    

General Instructions : 
 

(1) lHkh Á’u vfuok;Z gSA 

All questions are compulsory. 

(2) bl Á’u i= esa 40 Á’u gSa vkSj ÁR;sd Á’u nks vadksa dk gSA 

This question paper consists of 40 question and every question carries two marks. 

(3) ÁR;sd Á’u ds pkj fodYi fn, x, gSa ftuesa dsoy ,d mÙkj lgh gSA mÙkj i=d esa mi;qä xksys dks 

dkyk djds lgh mÙkj dks bafxr dhft,A 

Four options are given for each question out of which only one answer is correct. Choose 

the correct option and indicate it by blackening the appropriate circle in the answer sheet. 

 
01.  Roj.k dk S.I ek=d gSA (S.I unit of acceleration is.) 

(a) ehVj (m)    (b) ehVj@lsdsUM (m/s)  (c) ehVj@lsdUM2222 (m/s
2
)  

(d) ehVj2222@lsdsUM (m2
/s) 

 

02.  Lopkfyr okguksa esa ,d ;a= yxk gksrk gS tks muds }kjk r; dh xbZ nwjh dks Ánf’kZr 

djrk gSA bl ;a= dks dgrs gSa & 

(a) vksMksehVj  (b) LihMksehVj  (c) FkekZehVj  (d) buesa ls dksbZ ugha 

 

  Automobiles are fitted with a device that shows the distance traveled. Such a 

device in known as  

(a) Odometer    (b) Speedometer  (c) Thermometer  (d) None of there    

 

03.  buesa ls dkSu lgh gSA 

Which one is correct. 

(a) V u at= +   (b) V u at= −   (c) 
v u

a
t

+
=     (d) v u at+ =  
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04.  nzO;eku vkSj osx ds xq.kuQy dks dgrs gSa 

(a) laosx   (b) vkosx  (c) cy  (d) nkc 

The product of mass and velocity in called 

(a) Momentum   (b) Impulse   (c) Force   (d) Pressure  

 

05.  fuEu esa fdldk tM+Ro vf/kd gS % 

(a) lkbZfdy  (b) dkj   (c) cl  (d) jsyxkM+h 

Which of the following has more inertia: 

(a) Bicycle   (b) Car   (c) Bus  (d) Train 

 

06.  ÁR;sd fØ;k ds leku ,oa foifjr ÁfrfØ;k gksrh gSA ;g xfr dk dkSu lk fu;e gSA 

(a) ÁFke  (b)  f}rh;  (c) r`rh;  (d) buesa ls dksbZ ugha 

To every action, there is an equal and opposite reaction. Which law of 

motion is this. 

(a) First   (b) Second  (c) Third   (d) None of there 

 

07.  i`Foh ds xq#Roh; Roj.k dk eku gS % 

The value of acceleration due to gravity of the earth is . 

(a) 98 m/s
2
     (b)  9.8 m/s

2
   (c) 0.98 m/s

2
    (d) 0.098 m/s

2
 

 

08.  pUnzek dh lrg ij fdlh oLrq dk Hkkj] i`Foh dh lrg ij mlds Hkkj dk fdruk xq.kk 
gksrk gSA 
Weight of an object on the moon is how many times that of ots weight on 

the earth. 

(a) 6     (b) 
1

2
      (c)  2      (d) 

1

6
 

 

09.  /kuq”k dh rkfur Mksjh esa dkSu lh mtkZ lafpr gksrh gSA 

(a) fLFkfrt mtkZ   (b) xfrt mtkZ   (c) m”eh; mtkZ  (d) jklk;fud mtkZ 

Which energy is stored in the stretched string on the bow. 

(a) Potential Energy   (b) Kinetic Energy   (c)  Heat Energy  

(d) Chemical Energy 

 

10.  dk;Z djus dh nj dks dgrs gSA 

(a) mtkZ   (b)  ‘kfä    (c)  cy   (d)  nkc 

The rate of doing work in called 

(a) Energy   (b)  Power  (c) Force   (d)  Pressure  
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11.  fdlh oLrq dk osx nqxquk dj fn;k tk, rks bldh xfrt fdruh gks tk,xh\ 

(a) nqxquh   (b) vk/kkh   (c)   pkSxquh   (d) ,d pkSFkkbZ 

What will be its kinetic energy when its velocity is doubled? 

(a) Double   (b) Half   (c)  Four Times   (d) One Forth 

 

12.  vko`fr dk  S.I  ek=d gSA 

(a) ehVj  (b) gV~Zt   (c)  lsdsUM  (d) U;wVu 

S.I. unit of frequency is – 

(a) Meter   (b)  Hertz    (c) Second  (d)  Newton   

 

13.  buesa ls rjax osx (ѵ)] rjaxnS/;Z ( λ ) rFkk vko`fr (n) ds chp lgh laca/k dkSu gSA 

Which one is the right relation among wave speed (ѵ), wave length ( λ ) 

and frequency (n) 

(a) v nλ=      (b)  
n

v
λ

=      (c) n vλ=      (d)  .vλ λ=  

 

14.  fuEufyf[kr esa dkSu inkFkZ gS\ 

(a) xa/k   (b)  BaMk    (c)  Áse    (d) BaMk is; 

Which of the following are matter? 

(a) Smell   (b)  Cold    (c)  Love   (d) Cold drink 

 

15.  fuEufyf[kr esa nzo esa dkSu fuf’pr gS\ 

(a) vkdkj  (b) osx   (c)   ?kuRo   (d) vk;ru 

 Which of the following is fixed in liquid?  

(a) Shape   (b) Velocity  (c) Density   (d)  Volume 

 

16.  fuEufyf[kr esa dkSu diM+k xfeZ;ksa ds le; esa vf/kd vkjkensg gksrk gS\ 

(a) ikWfyLVj   (b) flYd   (c) lwrh    (d) flaFksfVd 

Which of the following clothes are more comfortable during summer? 

(a) Polyester   (b)  Silk   (c)  Cotton    (d) Synthetics 

 

17.  fuEufyf[kr esa dkSu rRo gS\ 

(a) gok    (b)  vkWDlhtu  (c)  ikuh   (d)  yo.k 

Which of the following is an element? 

(a) Air    (b) Oxygen   (c) Water   (d) Slat 
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18.  fuEufyf[kr feJ.kksa esa ls foy;u dh igpku djsa % 

(a)  feÍh   (b) leqnzh ty   (c) dks;yk   (d) ok;q 

Identify the solution among the following mixture : 

(a) Soil   (b) Sea-water  (c) Coal   (d)  Air 

 

19.  fuEufyf[kr esa dkSu fVuMy ÁHkko dks Ánf’kZr djsxk\ 

(a) ued dk ?kksy   (b)  nw/k  (c) dkWij lYQsV dk foy;u (d) buesa ls dksbZ ugha 

Which of the following will show Tyndall effect? 

(a) Salt Solution  (b) Milk  (c) Copper Sulphate solution  (d) Non of these 

 

20.  1.8g H2O esa v.kqvksa dh la[;k gS\ 

(a) 6.022 ×  10
20

   (b) 6.022 ×  10
23

 ×  1 (c) 6.022 ×  10
21

   (d) 6.022 ×  10
22

 

 

  The number of molecules in 1.8g  H2O is? 

(a) 6.022 ×  10
20

   (b) 6.022 ×  10
23

 ×  1 (c) 6.022 ×  10
21

   (d) 6.022 ×  10
22 

 

 

21.  5.85g Na cl fdlds cjkcj gS\ 

(a) 
1

2
eksy  (b) 

1

3
 eksy   (c) 

1

10
 eksy  (d) 1 eksy 

5.85g Na cl is equal to? 

(a) 
1

2
Mole   (b) 

1

3
 Mole   (c) 

1

10
 Mole  (d) 1 Mole 

 

22.  dkSu lk rRo eqä ijek.kq ds #i esa ik;k tkrk gS\ 

(a) gkbMªkstu   (b) vkWDlhtu  (c) vkxZu  (d) Dyksjhu 

Which element exists as free atoms? 

(a) Hydrogen  (b) Oxygen  (c) Argon  (d) Chlorine  

 

23.  dsuky fdj.ksa fdldk fdj.k iw¡t gSa\ 

(a) ÁksVkWu    (b) bysDVªkWu  (c) U;wVªkWu   (d)  α & d.k 

Canal rays are a beam of ? 

(a) Protons     (b)  Electrons   (c)  Neutrons   (d)  α - particles 

 

24.  fdlh rRo ds ijek.kq esa 18 U;wVªkWu ,oa 17 ÁksVkWu gSaA rRo dk ijek.kq nzO;eku gksxk % 

 (a) 35     (b) 17    (c)  18   (d)  1 

The atom of an element has 18 neutrons and 17 protons. The atomic mass 
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of the elements is : 

(a) 35     (b) 17    (c)  18   (d)  1 

25.  lksfM;e dk lgh bysDVªkWu foU;kl fuEu esa dkSu&lk gS\ 

(a) 2, 8  (b)  2, 1, 8  (c)  8, 2, 1   (d) 2, 8, 1 

Which one of the following is a correct electronic configuration of 

sodium? 

(a) 2, 8  (b)  2, 1, 8  (c)  8, 2, 1   (d) 2, 8, 1 

 

26.  vkRegR;k dk FkSyk dgykrk gS & 

(a) yod  (b) ykblkslkse   (c) fjfädk  (d) dsfUnzdk 

The suicidel bag is – 

(a) Chloroplast   (b) Lysosome  (c) Vacuole  (d) Nucleolus   

 

27.  dksf'kdk dk ^ikoj gkml* gS & 

(a) ekbVksdkfUMª;k   (b) xkYth midj.k  (c) yod  (d) jkbckslkse 

‘Power House’ of a cell is – 

(a) Mitochondrion    (b) Golgi apparatus  (c) Plastids  (d) Ribosome  

 

28.  VªSdhM~l ik;s tkrsa gS & 

(a)  tkbye esa  (b) ¶yks,e esa  (c) olh; mrdksa esa  (d) isf’k;ksa esa 

Tracheids are found in – 

(a) Xylem  (b) Phloem    (c) Fatty tissues   (d) Muscles 

 

29.  e`nwrd dh dksf’kdkvksa ds chp ik;s tkrs gSa & 

(a) vUrj dksf’kdh; LFkku  (b)  fyfXuu  (c) lqcfju  (d)  rUrq 

Found between the cells of parenchyma are – 

(a) Intercellular spaces  (b) Lignin    (c) Suberin   (d) Filaments 

 

30.  fdl Ádkj ds mrdksa dh fØ;k’khyrk ds dkj.k ikS/kksa esa okf”kZd oy; curs gS\ 

(a) laogu mrd  (b) ik’oZ foHkT;ksrd  (c) ‘kh”kZLFk foHkT;ksrd  (d) n`<+mrd 

By the activity of which type of tissues the annual rings of plants are 

formed? 

(a) conducting tissues  (b) Lateral meristem  (c) Apical meristem  

(d) Sclerenehyma 
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31.  if{k;ksa vkSj esa<dksa ds jä dh ÁÑfr gksrh gS & 

(a) leku  (b) vleku    (c) m”.k   (d) ‘khr 

The nature of  blood in birds and frogs is – 

(a) Similar   (b) Dissimilar  (c) Warm   (d) Cold 

 

32.  tUrq txr dk lcls fodflr lewg gS & 

(a) jsIVhfy;k   (b)  i{kh oxZ  (c) eRL; oxZ  (d) Lru/kkjh oxZ 

The most developed group of animal kingdom is – 

(a) Reptilia   (b) Aves    (c) Pisces   (d) Mammals 

 

33.  fuEufyf[kr esa ls fdl tUrq esa fo”kSys mikax ugha ik;s tkrs gSa\ 
(a) fcPNw  (b) gkbMªk  (c) dNqvk  (d)  vkFkzksZiksMk 
Which of the following animals does not have poisonous appendages? 

(a) Scorpion   (b) Hydra   (c) Tortoise   (d) Arthropoda 

 

34.  funzk jksx mRié djrk gS & 

(a)  fVªIuks lksek  (b) dod  (c) okbjl  (d) IykT;ksfM;e   

Sleeping sickness is caused by – 

(a) Trypanosoma  (b) Fungi    (c) Virus   (d)  Plasmodium 

 

35.  eysfj;k dk jksxokgd gS & 

(a) eD[kh   (b)  ePNj   (c) fo”kk.kq    (d)  Átho 

The vector of malaria is – 

(a) Housefly    (b) Mosquito   (c) Virus   (d)  Protozoa 

 

36.  vkstksu xSl ik;h tkrh gS & 

(a) {kksHk eaaaaaaaMy esa   (c) vk;u eaaaaMy esa   (c) lerki eaMy esa (d) okg~; eaMy esa 

Ozone gas is found in – 

(a)  Troposphere     (b) Ionosphere  (c) Stratosphere  (d) Exosphere 

 

37.  vfrpkj.k dk laca/k gS & 

(a)  e`nk vijnu ls  (b)  o”kkZ ls  (c)  vi{k; ls  (d) ty teko ls 

Overgrazing is related to – 

(a) Soil erosion  (b) Rains  (c) Weathering  (d) Water logging  

 

38.  ikS/kksa }kjk la’ysf’kr inkFkZ dgykrs gS & 

(a) tSo jlk;u  (b) pÍku  (c) Qy   (d) dkcksZgkbMªsV 
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Chemicals synthesized by plants are called as – 

(a) Biochemicals  (b) Rock  (c) Fruit   (d) Carbohydrate  

39.  ,d lw{e iks”kd rRo gS & 

(a) tLrk  (b)  ukbVªkstu   (c) QkLQksjl  (d) iksVSf’k;e 

A micronutrient is – 

(a) Zink    (b) Nitrogen   (c) Phosphorus   (d)  Potassium 

 

40.     ,d la’ysf”kr moZjd gS & 

(a) dEiksLV  (b) oehZdEiksLV   (c) ;wfj;k    (d) gjh [kkn 

A synthesized fertilizer is – 

(a) Compost   (b) Wormi compost  (c) Urea   (d) Green manure   
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Answer    
foKkufoKkufoKkufoKku    (Science)                

Class – IX 

Set -I 

(1) c (21) c  
(2) a (22) c  
(3) a (23) a  
(4) a (24) a  
(5) d  (25) a  
(6) c  (26) b 

(7) b  (27) a 

(8) d  (28) a 

(9) a  (29) a 

(10) b  (30) d 

(11) c  (31) d 

(12) b  (32) d 

(13) a  (33) c 

(14) d  (34) a 

(15) d  (35) b 

(16) c  (36) c 

(17) b  (37) a 

(18) b  (38) a 

(19) c  (39) a 

(20) d  (40) c 
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